





ASSEMBLY INSTRUCTION

3/16




Part List (Box 1-WF301069)

=) F1 F2
Panel-4pcs Panel-4pcs Panel-6pcs

. \ ] i \
Panel-2pcs Panel-2pcs Slats-8pcs

F7 Cc9 D1
Slats-2pcs Slats-2pcs Slats-5pcs

4/16




Part List & Hardware List (Box 2-WF301070)

A1 A2 A3 ‘
Leg-1pc Leg-1pc Leg-1pc

A4 A5 ) A6
Leg-1pc WoodBar-2pcs WoodBar-1pc

A7 A8 A9 m
WoodBar-2pcs WoodBar-2pcs WoodBar-2pcs

. 1 © 1 \
Panel-2pcs |z Panel-2pcs -~ WoodBar-1pc

B - B \
WoodBar-2pcs WoodBar-2pcs WoodBar-1pc

E7 ES FS /
WoodBar-1pc Panel-1pc Side Rail-2pcs

G2 G3

&

Front Trundle - 1psc

Back Trundle - 1psc

WoodBar-1pc

5/16




Hardware List (Box 2-WF301070)

1 S 2 3
55 £=e L
% Y
@1/4" x 70 mm @1/4" x 13 mm @10 x 40 mm
Hex-Head bolts 8pcs Horizontal-Hole bolts 40pcs Wood dowel 4pcs
4 3 6 S
0%
@8 x 30 mm @1/4" x 60 mm
Wood dowel 8pcs Allen Key 1pc Hex-Head bolts 16pcs
/ 8 9
<
0)))»)»)), o)-»mmmm))
@1/4" x 30 mm Screws 1/4" x30 Screws 1/4" x50
Hex-Head bolts 2pcs 8pcs 4pcs
10 11 12
o)—a)»»»)»m»
Screws 1/4" x70
16pcs Bracket 3 pcs
13 14 15 DPau du nhé
M4 x 15 mm M4 x 30 mm M4 x 15 mm
Wood Screws 20pcs Wood Screws 34pcs Wood Screws 32pcs
16 ; 17
s»
s
Q\’
B31/4" x 50 mm M3.5 x 12 mm

Hex-Head bolts 16pcs

Wood Screws 16pcs

—o—

Assembly Tools Required (Not Included)

6/16







\

STE P3 Following below illustration.

4(pcs)

NN

8/16

STE P4 Following below illustration.




116

\ | (©) (©)
O | S ] Al
m ’\ ~ < < < <\ \
= S o w2 ojo/ .\ % .\ /./
4 2 ” / \o..\ \o..\ \o..\
\m./ e / @\ @\ @\
o Wig £

SAAA/
YPAEANI

NN\
2 9/@\ : : P—
ﬂ\ LB ,W\\v

(<©)

‘o

®

STE P5 Following below illustration.
STE P6 Following below illustration.

9




15

32(pcs)

STE P7 Following below illustration

17

8(pcs) |16(pcs)

)

11

STE P8 Following below illustration

10/16




(AN

™

4(pcs)

1
8(pcs)

8(pcs)

\, \\ .//\\\%.,
- Pﬂ/ /

R
) -

X

//

STE Pg Following below illustration.

11/16




20(pcs)

D))

STEP1 O Following below illustration.

12/16




STEP1 1 Following below illustration

STEP1 2 Following below illustration

13/16




14(pcs)

C9
13

D1
G2

D1
D1
D1
D1

C9

STEP1 3 Following below illustration.

STE P1 4 Following below illustration.

14/16










